



## Properties of $T$ -Anti-Fuzzy Ideals of a $\ell$ -Near-Ring

G. Chandrasekaran<sup>1\*</sup>, B. Chellappa<sup>2</sup> and M. Jeyakumar<sup>3</sup>

<sup>1</sup>Department of Mathematics, Sethupathi Govt Arts College, Ramanathapuram – 623 502, Tamilnadu, India.

<sup>2</sup>Nachiappa Suvamical Arts and Science College, Karaikudi – 630 003, Tamilnadu, India.

<sup>3</sup>Department of Mathematics, Alagappa University Evening College, Rameswaram – 623 526, Tamilnadu, India.

### Authors' contributions

This work was carried out in collaboration between all authors. Author GC designed the study, performed the statistical analysis, wrote the protocol, and wrote the first draft of the manuscript. All authors read and approved the final manuscript.

### Article Information

DOI: 10.9734/JAMCS/2017/37091

#### Editor(s):

(1) Mohamed Rabea Eid Said, Department of Science and Mathematics, Assiut University, Egypt.

#### Reviewers:

(1) Erdinc Dundar, Afyon Kocatepe University, Turkey.

(2) En-Chih Chang, I-Shou University, Taiwan.

(3) Zhan'ao Xue, Henan Normal University, China.

Complete Peer review History: <http://www.sciedomain.org/review-history/21799>

Received: 30<sup>th</sup> September 2017

Accepted: 24<sup>th</sup> October 2017

Published: 8<sup>th</sup> November 2017

Original Research Article

## Abstract

In this paper, we define Anti-fuzzy ideal of a  $\ell$ -near-ring in  $R$  and  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring in  $R$ . we made an attempt to study the properties of  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring, union of  $T$ -anti-fuzzy ideals of  $\ell$ -near-ring, join of  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring in  $R$ , join of a family of  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring in  $R$  and family of union of  $T$ -anti-fuzzy ideal of  $\ell$ -near-ring in  $R$ .

**Keywords:** Fuzzy subset; near-ring; ideal,  $\ell$ -ring,  $\ell$ -near-ring;  $T$ -fuzzy ideal; anti-fuzzy ideal; anti-fuzzy ideal of  $\ell$ -near-ring;  $T$ -anti-fuzzy ideal; join of  $T$ -anti-fuzzy ideal.

## 1 Introduction

The concept of fuzzy sets was initiated by Zadeh LA. [1] in 1965. Wang-jin Liu. [2] has studied fuzzy ideals of a ring and many researchers are engaged in extending the concepts. Abou-Zaid S. [3] introduced the

\*Corresponding author: E-mail: gurunivedhasekarani@gmail.com;

notion of a fuzzy subnear-ring, and studied fuzzy ideals of a near-ring, and many followers discussed further properties of fuzzy ideals in near-rings. In Biswas R. [4] introduced the concept of anti-fuzzy subgroups of groups, and Kyung Ho KIM, Young Bae JUN. [5] studied the notion of anti-fuzzy  $R$ -subgroups of near-ring. In Kim KH, Jun YB, Yon YH. [6] introduced an anti-fuzzy ideal in Near-Rings. Triangular norms were introduced by Schweizer and Sklar [7,8] to model the distances in probabilistic metric spaces. In fuzzy sets theory, triangular norm ( $t$ -norm) is extensively used to model the logical connective conjunction (AND). There are many applications of triangular norms in several fields of mathematics and artificial intelligence. Dheena P, Mohanraaj G. [9] have studied several properties of  $T$ -fuzzy ideals of rings and  $T$ -fuzzy ideals of near-rings. We extended the results of Akram M. [10] to  $\Gamma$ -near-rings. Prakashmanimaran J, Chellappa B, Jeyakumar M. [11] introduced  $T$ -anti-fuzzy right ideals of  $\ell$ -ring.

In this paper we define, characterize and study of  $T$ -anti-fuzzy right and left ideals. we define anti-fuzzy ideal of a  $\ell$ -near-ring in  $R$  and  $T$ -anti-fuzzy right ideals of  $\ell$ -near-ring in  $R$ . We discuss some of its properties. We have shown that properties of  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring, union of  $T$ -anti-fuzzy ideals of  $\ell$ -near-ring, join of  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring in  $R$ , family of join of  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring in  $R$  and family of union of  $T$ -anti-fuzzy ideal of  $\ell$ -near-ring in  $R$ . Some of these works may be noted in [12,13,14,15,16,17,18,19,20,21,22,23,24,25,26].

We now reminding some fundamental definitions, notations and basic results that will be used throughout this paper.

**Definition: 1**

A non-empty set  $R$  is called a near-ring with two binary operations “+” and “.” satisfying the following axioms:  $(R, +)$  is a group ;  $(R, \cdot)$  is a semigroup and  $(x+y) \cdot z = x \cdot z + y \cdot z$ , for all  $x, y, z$  in  $R$  (i.e. Multiplicative is left distributive with respect to addition) We denote  $x \cdot y$  by  $xy$ .

**Definition: 2**

A non-empty set  $R$  is called lattice ordered near-ring or  $\ell$ -near-ring if it has four binary operations “+”, “.”,  $\vee$ ,  $\wedge$  defined on it and satisfy the following axioms:  $(R, +)$  is a group ;  $(R, \cdot)$  is a semigroup;  $(R, \vee, \wedge)$  is a lattice ; and

- (i)  $x \cdot (y + z) = x \cdot y + x \cdot z$ , for all  $x, y, z$  in  $R$
- (ii)  $x + (y \vee z) = (x + y) \vee (x + z)$ ;  $x + (y \wedge z) = (x + y) \wedge (x + z)$   
 $(y \vee z) + x = (y + x) \vee (z + x)$ ;  $(y \wedge z) + x = (y + x) \wedge (z + x)$
- (iii)  $x \cdot (y \vee z) = (xy) \vee (xz)$ ;  $x \cdot (y \wedge z) = (xy) \wedge (xz)$   
 $(y \vee z) \cdot x = (yx) \vee (zx)$ ;  $(y \wedge z) \cdot x = (yx) \wedge (zx)$ , for all  $x, y, z$  in  $R$  and  $x \geq 0$

**Example: 1**

$(n\mathbb{Z}, +, \cdot, \vee, \wedge)$  is a  $\ell$ -near-ring, where  $\mathbb{Z}$  is the set of all integers and  $n \in \mathbb{Z}$

**Definition: 3**

A mapping from a nonempty set  $X$  to  $[0, 1]$ ,  $\mu: X \rightarrow [0, 1]$  is called a fuzzy subset of  $X$ .

**Definition: 4**

A fuzzy subset  $\mu$  of a lattice ordered ring (or  $\ell$ -ring)  $R$  is called an anti-fuzzy sub  $\ell$ -ring of  $R$  if the following conditions are satisfied

- (i)  $\mu(x - y) \leq \max\{\mu(x), \mu(y)\}$
- (ii)  $\mu(xy) \leq \max\{\mu(x), \mu(y)\}$
- (iii)  $\mu(x \vee y) \leq \max\{\mu(x), \mu(y)\}$
- (iv)  $\mu(x \wedge y) \leq \max\{\mu(x), \mu(y)\}$ , for all  $x, y$  in  $R$ .

**Example: 2**

Consider the fuzzy subset  $\mu$  of the  $\ell$ -ring  $(\mathbb{Z}, +, \cdot, \vee, \wedge)$

$$\mu(x) = \begin{cases} 0.4 & \text{if } x \in \langle 3 \rangle \\ 0.8 & \text{if } x \in \mathbb{Z} - \langle 3 \rangle \end{cases}.$$

Then,  $\mu$  is an anti-fuzzy  $\ell$ -sub ring.

**Example: 3**

Consider a fuzzy subset  $\mu$  of the  $\ell$ -ring  $(\mathbb{Z}, +, \cdot, \vee, \wedge)$ .

$$\mu(x) = \begin{cases} 0.3 & \text{if } x \in \langle 3 \rangle \\ 0.8 & \text{if } x \in \mathbb{Z} - \langle 3 \rangle \end{cases}.$$

Then,  $\mu$  is not an anti-fuzzy  $\ell$ -sub ring.

For example, let  $x = 3$  and  $y = 7$ , then  $x + y = 10$ . Here  $\mu(x) = 0.8$  and  $\mu(y) = 0.8$ .

Therefore,  $\max\{\mu(x), \mu(y)\} = \max\{0.8, 0.8\} = 0.8$ . But  $\mu(x + y) = 0.3$ .

Hence,  $\mu(x + y) \leq \max\{\mu(x), \mu(y)\}$ . Thus,  $\mu$  is not an anti-fuzzy  $\ell$ -sub ring of  $R$ .

**Definition: 5**

Let  $R$  be a  $\ell$ -near-ring. A nonempty subset  $(I, +)$  of  $(R, +)$  is called a left ideal if  $x.(y + i) - x.y \in I$  for all  $x, y \in R$  and  $i \in I$ ; a right ideal if  $i.x \in I$  for all  $x \in R$  and  $i \in I$ ; an ideal, if it is both a left ideal and a right ideal of  $R$ .

**Definition: 6**

A fuzzy set  $\mu$  in a near-ring  $R$  is said to be an anti-fuzzy ideal of  $R$ , if the following conditions are satisfied,

- (i)  $\mu(x - y) \leq \max(\mu(x), \mu(y))$

- (ii)  $\mu(y + x - y) \leq \mu(x)$
- (iii)  $\mu(xy) \leq \mu(y); \mu(xy) \leq \mu(x)$
- (iv)  $\mu((x + z)y - xy) \leq \mu(z)$  for all  $x, y, z \in R$ .

**Proposition: 1**

If  $\mu$  is an anti-fuzzy ideal of  $R$  then,  $\mu(0) \leq \mu(x)$  for all  $x \in R$ .

**Definition: 7**

A fuzzy subset  $\mu$  of a  $\ell$ -near-ring  $R$  is called an anti-fuzzy ideal, if the following conditions are satisfied,

- (i)  $\mu(x - y) \leq \max(\mu(x), \mu(y))$
- (ii)  $\mu(y + x - y) \leq \mu(x)$
- (iii)  $\mu(xy) \leq \mu(y); \mu(xy) \leq \mu(x)$
- (iv)  $\mu((x + z)y - xy) \leq \mu(z)$
- (v)  $\mu(x \vee y) \leq \max(\mu(x), \mu(y))$
- (vi)  $\mu(x \wedge y) \leq \max(\mu(x), \mu(y))$  for all  $x, y, z \in R$ .

**Example: 4**

Consider a near-ring  $R = \{a, b, c, d\}$  with the following Cayley's tables:

+	a	b	c	d
a	a	b	c	d
b	b	a	d	c
c	c	d	b	a
d	d	c	a	b

.	a	b	c	d
a	a	a	a	a
b	a	a	a	a
c	a	a	a	a
d	a	a	b	b

We define an anti-fuzzy subset  $\mu: R \rightarrow [0, 1]$  by  $\mu(a) < \mu(b) < \mu(d) = \mu(c)$

Then,  $\mu$  is an anti-fuzzy right (resp. left) ideal of  $R$ .

**Definition: 8**

A mapping  $T: [0, 1] \times [0, 1] \rightarrow [0, 1]$  is called a triangular norm [ $t$ -norm], if and only if, it satisfies the following conditions:

- (i).  $T(x, 1) = T(1, x) = x$ , for all  $x \in [0, 1]$
- (ii).  $T(x, y) = T(y, x)$ , for all  $x, y \in [0, 1]$
- (iii).  $T(x, T(y, z)) = T(T(x, y), z)$
- (iv).  $T(x, y) \leq T(x, z)$ , whenever  $y \leq z$ .

**Proposition: 2**

The *minimum T*-norm (*min T*-norm) is defined by  $T(a, b) = \min\{a, b\}$ .

**Definition: 9**

A fuzzy subset  $\mu$  of a ring  $R$  is called *T*-anti-fuzzy right (resp. left) ideal if

- (i)  $\mu(x - y) \leq T(\mu(x), \mu(y))$
- (ii)  $\mu(xy) \leq \mu(x)$  (resp. left  $\mu(xy) \leq \mu(y)$ ), for all  $x, y$  in  $R$ .

**Definition: 10**

A fuzzy subset  $\mu$  of a ring  $R$  is called *T*-anti-fuzzy ideal, if it is satisfied both right and left ideals.

**Proposition: 3**

Every anti-fuzzy right ideal of a ring  $R$  is an *T*-anti-fuzzy right ideal.

**Definition: 11**

A fuzzy subset  $\mu$  of a  $\ell$ -ring  $R$  is called an *T*-anti-fuzzy ideal, if the following conditions are satisfied,

- (i)  $\mu(x - y) \leq T(\mu(x), \mu(y))$
- (ii)  $\mu(xy) \leq \mu(x); \mu(xy) \leq \mu(y)$
- (iii)  $\mu(x \vee y) \leq T(\mu(x), \mu(y))$
- (iv)  $\mu(x \wedge y) \leq T(\mu(x), \mu(y))$ , for all  $x, y \in R$ .

**Definition: 12**

A fuzzy subset  $\mu$  of a near-ring  $R$  is called an *T*-anti-fuzzy ideal, if the following conditions are satisfied,

- (i)  $\mu(x - y) \leq T(\mu(x), \mu(y))$
- (ii)  $\mu(y + x - y) \leq \mu(x)$
- (iii)  $\mu(xy) \leq \mu(y); \mu(xy) \leq \mu(x)$
- (iv)  $\mu((x + z)y - xy) \leq \mu(z)$ , for all  $x, y, z \in R$ .

**Proposition: 4**

Every *T*-fuzzy ideal of a near-ring  $R$  is a *T*-fuzzy sub near-ring of  $R$ .

Converse of Proposition 1 may not be true in general as seen in the following example.

**Example: 5**

From example: 4

Let  $T : [0,1] \times [0,1] \rightarrow [0,1]$  be a function. defined by  $T(x,y) = \max\{x + y - 1, 0\}$  which is a *t*-norm, for all  $x, y \in [0,1]$ . By routine calculations, it is easy to check that  $\mu$  is a *T*-anti-fuzzy sub near-ring of  $R$ . It is

clear that  $\mu$  is also left  $T$ -anti-fuzzy ideal of  $R$ . But  $\mu$  is not  $T$ -anti-fuzzy right ideal of  $R$ , since,  $\mu((c+d)d-cd) = \mu(d) < \mu(b)$ .

**Definition: 13**

A fuzzy subset  $\mu$  of a  $\ell$ -near-ring  $R$  is called an  $T$ -anti-fuzzy ideal, if the following conditions are satisfied,

- (i)  $\mu(x - y) \leq T(\mu(x), \mu(y))$
- (ii)  $\mu(y + x - y) \leq \mu(x)$
- (iii)  $\mu(xy) \leq \mu(y); \mu(xy) \leq \mu(x)$
- (iv)  $\mu((x+z)y - xy) \leq \mu(z)$
- (v)  $\mu(x \vee y) \leq T(\mu(x), \mu(y))$
- (vi)  $\mu(x \wedge y) \leq T(\mu(x), \mu(y))$  for all  $x, y, z \in R$ .

**Example: 6**

Let  $(R = \{a, b, c\}, +, \cdot, \vee, \wedge)$  be a  $\ell$ -near-ring.

Consider an anti-fuzzy subset  $\mu$  of the  $\ell$ -ring  $R$

$$\mu(x) = \begin{cases} 0.2 & \text{if } x = a \\ 0.5 & \text{if } x = b \\ 0.8 & \text{if } x = c \end{cases}$$

Then,  $\mu$  is an  $T$ -anti-fuzzy ideal of  $\ell$ -near-ring  $R$ .

**Definition: 14**

Let  $\mu$  and  $\lambda$  be the anti-fuzzy subsets of a set  $X$ . An anti-fuzzy subset  $\mu \cup \lambda$  is defined as  $(\mu \cup \lambda)(x) = \max\{\mu(x), \lambda(x)\}$ .

**Definition: 15**

Let  $\mu$  and  $\lambda$  be the anti-fuzzy subsets of a set  $X$ . An anti-fuzzy subset  $\mu \vee \lambda$  is defined as  $(\mu \vee \lambda)(x) = T(\mu(x), \lambda(x))$ .

**Example: 7**

Let  $R = \{0, a, b, c\}$ . We have  $(\mu \vee \lambda)(x) = T(\mu(x), \lambda(x))$ , for all  $x$  in  $R$ .

Define  $t$ -norm  $T$  by  $T(p, q) = \max(p, q)$ , for all  $p, q$  in  $[0, 1]$ .

Define an anti-fuzzy subset

$\mu: R \rightarrow [0, 1]$  by  $\mu(0) = 0.9$  and  $\mu(a) = \mu(b) = \mu(c) = 0.4$ , where  $0, a, b, c \in R$ .

Then  $\mu = \{(0, 0.9), (a, 0.4), (b, 0.4), (c, 0.4)\}$ .

Again, define an anti-fuzzy subset

$\lambda: R \rightarrow [0, 1]$  by  $\lambda(0) = 0.7$ ,  $\lambda(a) = 0.6$ ,  $\lambda(b) = 0.5$  and  $\lambda(c) = 0.4$  where  $0, a, b, c \in R$ .

Then  $\lambda = \{(0, 0.7), (a, 0.6), (b, 0.5), (c, 0.4)\}$ .

Let  $0, a, b, c$  in  $R$

Then,  $(\mu \vee \lambda)(0) = T(\mu(0), \lambda(0)) = T(0.9, 0.7) = \max(0.9, 0.7) = 0.9$

Now,  $(\mu \vee \lambda)(a) = T(\mu(a), \lambda(a)) = T(0.4, 0.6) = \max(0.4, 0.6) = 0.6$

$(\mu \vee \lambda)(b) = T(\mu(b), \lambda(b)) = T(0.4, 0.5) = \max(0.4, 0.5) = 0.5$

$(\mu \vee \lambda)(c) = T(\mu(c), \lambda(c)) = T(0.4, 0.4) = \max(0.4, 0.4) = 0.4$

So,  $\mu \vee \lambda = \{(0, 0.9), (a, 0.6), (b, 0.5), (c, 0.4)\}$  is the anti-fuzzy subset of  $R$ .

That is,  $\mu \vee \lambda: R \rightarrow [0, 1]$ , defined by  $(\mu \vee \lambda)(0_R) = 0.9$ .

$$(\mu \vee \lambda)(x) = \begin{cases} a & \text{if } x = 0.6 \\ b & \text{if } x = 0.5 \\ c & \text{if } x = 0.4, \text{ for all } 0_R \neq x \end{cases}$$

Thus,  $\mu \vee \lambda$  is an  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring  $R$ .

**Definition: 16**

Let  $\mu$  and  $\lambda$  be  $T$ -anti-fuzzy ideals of a  $\ell$ -near-ring  $R$ . Then,  $\mu \cup \lambda$ , is an  $T$ -anti-fuzzy right ideal is defined by  $(\mu \cup \lambda)(x - y) = \max(\mu(x - y), \lambda(x - y))$ , for all  $x, y \in R$ .

**Definition: 17**

A fuzzy set  $\mu$  of a  $\ell$ -near-ring  $R$  has the **supremum** property if for any subset  $N$  of  $R$ , there exists a  $a_0 \in N$  such that  $\mu_A(a_0) = \sup_{a \in N} \mu_A(a)$ .

**Theorem: 1**

Every anti-fuzzy ideal of a  $\ell$ -near-ring  $R$  is an  $T$ -anti-fuzzy ideal in  $\ell$ -near-ring  $R$ .

**Theorem: 2**

If  $\mu$  and  $\lambda$  are  $T$ -anti-fuzzy ideals of a  $\ell$ -near-ring  $R$ , then  $\mu \vee \lambda$  is an  $T$ -anti-fuzzy ideal of a  $\ell$ -near-

ring  $R$ .

**Proof:**

Given  $\mu$  and  $\lambda$  are  $T$ -anti-fuzzy ideals of a  $\ell$ -near-ring  $R$ ,

Let  $x, y, z \in R$

$$\begin{aligned}
 \text{(i)} \quad (\mu \vee \lambda)(x - y) &= T(\mu(x - y), \lambda(x - y)) \\
 &\leq T(T(\mu(x), \mu(y)), T(\lambda(x), \lambda(y))) \\
 &= T(T(T(\mu(x), \mu(y)), \lambda(x)), \lambda(y)) \\
 &= T(T(T(\mu(x), \lambda(x)), \mu(y)), \lambda(y)) \\
 &= T(T(\mu(x), \lambda(x)), T(\mu(y), \lambda(y))) \\
 &= T((\mu \vee \lambda)(x), (\mu \vee \lambda)(y))
 \end{aligned}$$

Therefore,  $(\mu \vee \lambda)(x - y) \leq T((\mu \vee \lambda)(x), (\mu \vee \lambda)(y))$ , for all  $x, y \in R$ .

$$\begin{aligned}
 \text{(ii)} \quad \text{Since, } \mu(y + x - y) &\leq \mu(x) \text{ and } \lambda(y + x - y) \leq \lambda(x) \\
 (\mu \vee \lambda)(y + x - y) &= T(\mu(y + x - y), \lambda(y + x - y)) \\
 &\leq T(\mu(x), \lambda(x)) \\
 &= (\mu \vee \lambda)(x)
 \end{aligned}$$

Therefore,  $(\mu \vee \lambda)(y + x - y) \leq (\mu \vee \lambda)(x)$ , for all  $x, y \in R$ .

$$\begin{aligned}
 \text{(iii)} \quad \text{Since } \mu(xy) &\leq \mu(x) \text{ and } \lambda(xy) \leq \lambda(x) \\
 (\mu \vee \lambda)(xy) &\leq T(\mu(xy), \lambda(xy)), \\
 &\leq T(\mu(x), \lambda(x)) \leq (\mu \vee \lambda)(x)
 \end{aligned}$$

Therefore,  $(\mu \vee \lambda)(xy) \leq (\mu \vee \lambda)(x)$ , for all  $x, y \in R$ .

$$\begin{aligned}
 \text{(iv)} \quad \text{Since, } \mu((x + z)y - xy) &\leq \mu(z) \text{ and } \lambda((x + z)y - xy) \leq \lambda(z) \\
 (\mu \vee \lambda)((x + z)y - xy) &= T(\mu((x + z)y - xy), \lambda((x + z)y - xy)) \\
 &\leq T(\mu(z), \lambda(z)) \leq (\mu \vee \lambda)(z)
 \end{aligned}$$

Therefore,  $(\mu \vee \lambda)((x + z)y - xy) \leq (\mu \vee \lambda)(z)$ , for all  $x, y \in R$ .

$$\begin{aligned}
 \text{(v)} \quad (\mu \vee \lambda)(x \vee y) &= T(\mu(x \vee y), \lambda(x \vee y)) \\
 &\leq T(T(\mu(x), \mu(y)), T(\lambda(x), \lambda(y))) \\
 &= T(T(T(\mu(x), \mu(y)), \lambda(x)), \lambda(y)) \\
 &= T(T(T(\mu(x), \lambda(x)), \mu(y)), \lambda(y)) \\
 &= T(T(\mu(x), \lambda(x)), T(\mu(y), \lambda(y))) \\
 &= T((\mu \vee \lambda)(x), (\mu \vee \lambda)(y))
 \end{aligned}$$

Therefore,  $(\mu \vee \lambda)(x \vee y) \leq T((\mu \vee \lambda)(x), (\mu \vee \lambda)(y))$ , for all  $x, y \in R$ .



$$\begin{aligned}
 \text{(vi)} \quad (\mu \vee \lambda)(x \wedge y) &= T(\mu(x \wedge y), \lambda(x \wedge y)) \\
 &\leq T(T(\mu(x), \mu(y)), T(\lambda(x), \lambda(y))) \\
 &= T(T(T(\mu(x), \mu(y)), \lambda(x)), \lambda(y)) \\
 &= T(T(T(\mu(x), \lambda(x)), \mu(y)), \lambda(y)) \\
 &= T(T(\mu(x), \lambda(x)), T(\mu(y), \lambda(y))) \\
 &= T((\mu \vee \lambda)(x), (\mu \vee \lambda)(y))
 \end{aligned}$$

Therefore,  $(\mu \vee \lambda)(x \wedge y) \leq T((\mu \vee \lambda)(x), (\mu \vee \lambda)(y))$ , for all  $x, y \in R$ .

Thus  $\mu \vee \lambda$ , is an  $T$ -anti-fuzzy right ideal of a  $\ell$ -near-ring  $R$ .

**Theorem: 3**

If  $\mu$  and  $\lambda$  are  $T$ -fuzzy ideals of a  $\ell$ -near-ring  $R$ , then  $\mu \cup \lambda$  is an  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring  $R$

**Proof:**

Given  $\mu$  and  $\lambda$  are  $T$ -anti-fuzzy ideals of a  $\ell$ -near-ring  $R$

Let  $x, y, z \in R$

$$\begin{aligned}
 \text{(i).} \quad (\mu \cup \lambda)(x - y) &= \max \{ \mu(x - y), \lambda(x - y) \} \\
 &\leq \max \{ \max \{ \mu(x), \mu(y) \}, \max \{ \lambda(x), \lambda(y) \} \} \\
 &= \max \{ \max \{ \max \{ \mu(x), \mu(y) \}, \lambda(x) \}, \lambda(y) \} \\
 &= \max \{ \max \{ \max \{ \mu(x), \lambda(x) \}, \mu(y) \}, \lambda(y) \} \\
 &= \max \{ \max \{ \mu(x), \lambda(x) \}, \max \{ \mu(y), \lambda(y) \} \} \\
 &= \max \{ (\mu \cup \lambda)(x), (\mu \cup \lambda)(y) \}
 \end{aligned}$$

Therefore,  $(\mu \cup \lambda)(x - y) \leq \max \{ (\mu \cup \lambda)(x), (\mu \cup \lambda)(y) \}$ , for all  $x, y \in R$

$$\begin{aligned}
 \text{(ii).} \quad \text{Since, } \mu(y + x - y) &\leq \mu(x) \text{ and } \lambda(y + x - y) \leq \lambda(x) \\
 \text{We have, } (\mu \cup \lambda)(y + x - y) &= \max (\mu(y + x - y), \lambda(y + x - y)) \\
 &\leq \max (\mu(x), \lambda(x)) = (\mu \cup \lambda)(x)
 \end{aligned}$$

Therefore,  $(\mu \cup \lambda)(y + x - y) \leq (\mu \cup \lambda)(x)$ , for all  $x, y \in R$

$$\begin{aligned}
 \text{(iii).} \quad \text{Since, } \mu(xy) &\leq \mu(x) \text{ and } \lambda(xy) \leq \lambda(x) \\
 \text{We have, } (\mu \cup \lambda)(xy) &\leq \max \{ \mu(xy), \lambda(xy) \} \\
 &\leq \max \{ \mu(x), \lambda(x) \} \\
 &\leq (\mu \cup \lambda)(x)
 \end{aligned}$$

Therefore,  $(\mu \cup \lambda)(xy) \leq (\mu \cup \lambda)(x)$ , for all  $x, y \in R$

(iv) Since,  $\mu((x+z)y - x y) \leq \mu(z)$  and  $\lambda((x+z)y - x y) \leq \lambda(z)$

$$(\mu \cup \lambda)((x+z)y - x y) = \max(\mu((x+z)y - x y), \lambda((x+z)y - x y))$$

$$\leq \max(\mu(z), \lambda(z)) \leq (\mu \cup \lambda)(z)$$

Therefore,  $(\mu \cup \lambda)((x+z)y - x y) \leq (\mu \cup \lambda)(z)$ , for all  $x, y \in R$

(v).  $(\mu \cup \lambda)(x \vee y) = \max\{\mu(x \vee y), \lambda(x \vee y)\}$

$$\leq \max\{\max\{\mu(x), \mu(y)\}, \max\{\lambda(x), \lambda(y)\}\}$$

$$= \max\{\max\{\max\{\mu(x), \mu(y)\}, \lambda(x)\}, \lambda(y)\}$$

$$= \max\{\max\{\max\{\mu(x), \lambda(x)\}, \mu(y)\}, \lambda(y)\}$$

$$= \max\{\max\{\mu(x), \lambda(x)\}, \max\{\mu(y), \lambda(y)\}\}$$

$$= \max\{(\mu \cup \lambda)(x), (\mu \cup \lambda)(y)\}$$

Therefore,  $(\mu \cup \lambda)(x \vee y) \leq \max\{(\mu \cup \lambda)(x), (\mu \cup \lambda)(y)\}$ , for all  $x, y \in R$

(vi).  $(\mu \cup \lambda)(x \wedge y) = \max\{\mu(x \wedge y), \lambda(x \wedge y)\}$

$$\leq \max\{\max\{\mu(x), \mu(y)\}, \max\{\lambda(x), \lambda(y)\}\}$$

$$= \max\{\max\{\max\{\mu(x), \mu(y)\}, \lambda(x)\}, \lambda(y)\}$$

$$= \max\{\max\{\max\{\mu(x), \lambda(x)\}, \mu(y)\}, \lambda(y)\}$$

$$= \max\{\max\{\mu(x), \lambda(x)\}, \max\{\mu(y), \lambda(y)\}\}$$

$$= \max\{(\mu \cup \lambda)(x), (\mu \cup \lambda)(y)\}$$

Therefore,  $(\mu \cup \lambda)(x \wedge y) \leq \max\{(\mu \cup \lambda)(x), (\mu \cup \lambda)(y)\}$ , for all  $x, y \in R$

Thus,  $\mu \cup \lambda$  is an  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring  $R$ .

**Theorem: 4**

The join of a family of  $T$ -anti-fuzzy ideal of  $\ell$ -near-ring  $R$  is an  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring  $R$ .

**Proof:**

Let  $\{V_\alpha : \alpha \in I\}$  be a family of  $T$ -anti-fuzzy ideal of  $\ell$ -near-ring  $R$

Let  $V = \bigvee_{\alpha \in I} V_\alpha$  and let  $x$  and  $y$  in  $R$ .

(i).  $\mu_V(x - y) = T(\mu_V(x - y), \mu_V(x - y))$

$$\leq T(T(\mu_V(x), \mu_V(y)), T(\mu_V(x), \mu_V(y)))$$

$$= T(T(\mu_V(x), \mu_V(y))) = T(\mu_V(x), \mu_V(y))$$

Therefore,  $\mu_V(x - y) \leq T(\mu_V(x), \mu_V(y))$ , for all  $x, y \in R$

- (ii). Since  $\mu(y+x-y) \leq \mu(x)$   

$$\mu_V(y+x-y) = T(\mu_V(y+x-y), \mu_V(y+x-y))$$

$$\leq T(\mu_V(x), \mu_V(x)) = \mu_V(x)$$
 Therefore,  $\mu_V(y+x-y) \leq \mu_V(x)$ , for all  $x, y \in R$
- (iii). Since  $\mu(xy) \leq \mu(x)$  and  $\mu(xy) \leq \mu(y)$   

$$\mu_V(xy) \leq T(\mu_V(xy), \mu_V(xy)) = T(\mu_V(x), \mu_V(x)) = \mu_V(x)$$
 Therefore,  $\mu_V(xy) \leq \mu_V(x)$ , for all  $x, y \in R$
- (iv). Since  $\mu((x+z)y - xy) \leq \mu(z)$   

$$\mu_V((x+z)y - xy) = T(\mu_V((x+z)y - xy), \mu_V((x+z)y - xy))$$

$$\leq T(\mu_V(z), \mu_V(z))$$

$$\leq \mu(z)$$
 Therefore,  $\mu_V((x+z)y - xy) \leq \mu_V(z)$ , for all  $x, y \in R$
- (v). 
$$\mu_V(x \vee y) = T(\mu_V(x \vee y), \mu_V(x \vee y))$$

$$\leq T(T(\mu_V(x), \mu_V(y)), T(\mu_V(x), \mu_V(y)))$$

$$= T(T(\mu_V(x), \mu_V(y))) = T(\mu_V(x), \mu_V(y))$$
 Therefore,  $\mu_V(x \vee y) \leq T(\mu_V(x), \mu_V(y))$ , for all  $x, y \in R$
- (vi). 
$$\mu_V(x \wedge y) = T(\mu_V(x \wedge y), \mu_V(x \wedge y))$$

$$\leq T(T(\mu_V(x), \mu_V(y)), T(\mu_V(x), \mu_V(y)))$$

$$= T(T(\mu_V(x), \mu_V(y))) = T(\mu_V(x), \mu_V(y))$$

Therefore,  $\mu_V(x \wedge y) \leq T(\mu_V(x), \mu_V(y))$ , for all  $x, y \in R$

Thus, the join of a family of  $T$ -anti-fuzzy ideal of  $\ell$ -near-ring  $R$  is an  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring  $R$ .

**Theorem: 5**

The union of a family of  $T$ -anti-fuzzy ideal of  $\ell$ -near-ring  $R$  is an  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring  $R$ .

**Proof:**

Let  $\{U_\alpha : \alpha \in I\}$  be a family of  $T$ -anti-fuzzy ideal of  $R$ .

Let  $A = \bigcup_{\alpha \in I} U_\alpha$  and Let  $x, y, z$  in  $R$ .

- (i) 
$$\mu_A(x-y) = \max\{\mu_A(x-y), \mu_A(x-y)\}$$

$$\leq \max\{\max\{\mu_A(x), \mu_A(y)\}, \max\{\mu_A(x), \mu_A(y)\}\}$$

$$= \max \{ \max(\mu_A(x), \mu_A(y)) \}$$

$$= \max \{ \mu_A(x), \mu_A(y) \}$$

Therefore,  $\mu_A(x - y) \leq \max \{ \mu_A(x), \mu_A(y) \}$ , for all  $x, y \in R$ .

(ii) Since  $\mu(y + x - y) \leq \mu(x)$

$$\mu_A(y + x - y) = \max(\mu_A(y + x - y), \mu_A(y + x - y))$$

$$\leq \max(\mu_A(x), \mu_A(x))$$

$$= \mu_A(x)$$

Therefore,  $\mu_A(y + x - y) \leq \mu_A(x)$ , for all  $x, y \in R$ .

(iii) Since  $\mu(xy) \leq \mu(x)$  and  $\mu(xy) \leq \mu(y)$

$$\mu_A(xy) \leq \max \{ \mu_A(xy), \mu_A(xy) \}$$

$$\leq \max \{ \mu_A(x), \mu_A(x) \} \leq \mu_A(x)$$

Therefore,  $\mu_A(xy) \leq \mu_A(x)$ , for all  $x, y \in R$ .

(iv) Since  $\mu((x+z)y - xy) \leq \mu(z)$

$$\mu_A((x+z)y - xy) = \max(\mu_A((x+z)y - xy), \mu_A((x+z)y - xy))$$

$$\leq \max(\mu_A(z), \mu_A(z)) \leq \mu_A(z)$$

Therefore,  $\mu_A((x+z)y - xy) \leq \mu_A(z)$ , for all  $x, y \in R$ .

(v)  $\mu_A(x \vee y) = \max \{ \mu_A(x \vee y), \mu_A(x \vee y) \}$

$$\leq \max \{ \max \{ \mu_A(x), \mu_A(y) \}, \max \{ \mu_A(x), \mu_A(y) \} \}$$

$$= \max \{ \max \{ \mu_A(x), \mu_A(y) \} \}$$

$$= \max(\mu_A(x), \mu_A(y))$$

Therefore,  $\mu_A(x \vee y) \leq \max \{ \mu_A(x), \mu_A(y) \}$ , for all  $x, y \in R$ .

(vi)  $\mu_A(x \wedge y) = \max \{ \mu_A(x \wedge y), \mu_A(x \wedge y) \}$

$$\leq \max \{ \max \{ \mu_A(x), \mu_A(y) \}, \max \{ \mu_A(x), \mu_A(y) \} \}$$

$$= \max \{ \max \{ \mu_A(x), \mu_A(y) \} \}$$

$$= \min \{ \mu_A(x), \mu_A(y) \}$$

Therefore,  $\mu_A(x \wedge y) \leq \max(\mu_A(x), \mu_A(y))$ , for all  $x, y \in R$ .

Thus union of a family of  $T$ -anti-fuzzy ideal of  $\ell$ -near-ring  $R$  is an  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring  $R$ .

## 2 Conclusion

In this paper, we gave some new idea of  $T$ -anti-fuzzy ideal of a  $\ell$ -near-ring and use some properties of  $T$ -anti-fuzzy ideals of  $\ell$ -near-ring. We hope that our study contributes to the development of these results by other researchers.

## Acknowledgements

The authors wish to thank the referees for their careful reading of the manuscript and valuable suggestions.

## Competing Interests

Authors have declared that no competing interests exist.

## References

- [1] Zadeh LA. Fuzzy sets. *Information and Control*. 1965;8:338-353.
- [2] Wang-jin Liu. Fuzzy invariant subgroups and fuzzy ideals. *Fuzzy Sets and Systems*. 1982;8(2):133-139.
- [3] Abou-Zaid S. On fuzzy subnear-rings and ideals. *Fuzzy Sets and Systems*. 1991;44:139-146.
- [4] Biswas R. Fuzzy subgroups and anti fuzzy subgroups. *Fuzzy Sets and System*. 1990;35(1):121-124.
- [5] Kyung Ho KIM, Young Bae JUN. Anti fuzzy R-subgroups of near-rings. *Scientiae Mathematicae*. 1999;2(2):147-153.
- [6] Kim KH, Jun YB, Yon YH. On anti-fuzzy ideals in Near-Rings. *Iranian Journal of Fuzzy Systems*. 2005;2(2):71-80.
- [7] Schweizer B, Sklar A. Statistical metric spaces. *Pacific Journal of Mathematics*. 1960;10(1):313-334.
- [8] Schweizer B, Sklar A. Associative functions and abstract semigroups. *Publicationes Mathematicae Debrecen*. 1963;10:69-81.
- [9] Dheena P, Mohanraaj G. T-fuzzy ideals in rings. *International Journal of Computational Cognition*. 2011;9(2):98-101.
- [10] Akram M. On T-fuzzy ideals in near-rings. *International Journal of Mathematics and Mathematical Sciences*. 2007;73514:1-14.
- [11] Prakashmanimaran J, Chellappa B, Jeyakumar M. Some theorem on  $T$ -anti fuzzy ideal of  $\ell$ -rings. *International Journal: Mathematical Manuscripts*. 2016;9(1):151-162.
- [12] Abu Osman MT. On some product of fuzzy subgroups. *Fuzzy Sets and Systems*. 1987;24:79-86.
- [13] Alam MZ. Fuzzy rings and anti-fuzzy rings with operator. *IOSR Journal of Mathematics*. 2015;2(4):48-54.
- [14] Ayyappan M, Natarajan R. Lattice ordered near rings. *Acta Ciencia Indica*. 2012;1038(4):727-738.
- [15] Booth GL. A note on  $\Gamma$ -near-rings. *Studia Scientiarum Mathematicarum Hungarica*. 1988;23:471-475.
- [16] Coppage WE, Luh J. Radicals of gamma-rings. *Journal of the Mathematical Society of Japan*. 1971;23(1):40-52.

- [17] Dündar E, Talo Ö.  $I_2$ -convergence of double sequences of fuzzy numbers. Iranian Journal of Fuzzy Systems. 2013;10(3):37-50.
- [18] Hassan AAM. On Fuzzy rings and fuzzy homomorphism. The Journal of Fuzzy Mathematics. 1999;7(2):291-304.
- [19] Mydhily D, Natarajan R. Properties of anti-fuzzy  $\ell$ -subsemiring of an  $\ell$ -semiring. International Journal of Applied Computational Science and Mathematics. 2014;4(2):209-224.
- [20] Nobusawa, Nobuo. On a generalization of the ring theory. Osaka Journal of Mathematics. 1964;1(1): 81-89.
- [21] Satyanarayana Bhavanari, Syam Prasad Kuncham. On fuzzy cosets of gamma nearrings. Turkish Journal of Mathematics. 2005;29:11-22.
- [22] Shabir M, Hussain M. Fully Fuzzy Idempotent Nearrings. Southeast Asian Bulletin of Mathematics. 2010;34(5):959-970.
- [23] Srinivas T, Nagaiah T, Narasimha Swamy P. Anti fuzzy ideals of  $\Gamma$ -near-rings. Annals of Fuzzy Mathematics and Informatics. 2012;3(2):255-266.
- [24] Talo Ö. Some properties of limit inferior and limit superior for sequences of fuzzy real numbers. Information Sciences. 2014;279:560-568.
- [25] Talo Ö, Dündar E.  $I$ -Limit Superior and  $I$ -Limit Inferior for Sequences of Fuzzy Numbers. Konuralp Journal of Mathematics. 2016;4(2):1643 172.
- [26] Klement EP, Mesiar R, Pap E. Triangular Norms, vol. 8 of Trends in Logic-Studia Logica Library, Kluwer Academic Publishers, Dordrecht, The Netherlands, 2000.

---

© 2017 Chandrasekaran et al.; This is an Open Access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

**Peer-review history:**

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

<http://sciencedomain.org/review-history/21799>